

BIWAMEEN ADEDOLAPO ABDULFATTAH  
DR OYELAMI  
MECHATRONICS

Find  $dy/dx$  of  $y = \sin \frac{3}{x^2}$  from first principle.

Solution

$$\text{If } y = \sin\left(\frac{3}{x^2}\right) = f(x) \quad \text{let } h = \Delta x$$

$$\frac{dy}{dx} = f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

$$f'(x) = \lim_{h \rightarrow 0} \frac{\sin \frac{3}{(x+h)^2} - \sin \frac{3}{x^2}}{h}$$

$$\text{If } \sin A - \sin B = 2 \cos\left(\frac{A+B}{2}\right) \cdot \sin\left(\frac{A-B}{2}\right)$$

$$= \lim_{h \rightarrow 0} 2 \cos \left[ \frac{\frac{3}{(x+h)^2} + \frac{3}{x^2}}{2} \right] \cdot \sin \left[ \frac{\frac{3}{(x+h)^2} - \frac{3}{x^2}}{2} \right]$$

$$\lim_{h \rightarrow 0} 2 \cos \left[ \frac{\frac{3}{(x+h)^2} + \frac{3}{x^2}}{2} \right] \cdot \lim_{h \rightarrow 0} \sin \left[ \frac{3x^2 - 3(x+h)^2}{2x^2(x+h)^2} \right]$$

$$\lim_h 2 \cos \left( \frac{\frac{3}{x^2} + \frac{3}{x^2}}{2} \right) \lim_h \sin \left[ \frac{3x^2 - 3x^2 - 6xh - 3h^2}{2x^2(x+h)^2} \right]$$

$$2 \cos \frac{3}{x^2} \times \lim_h \sin \frac{-6xh - 3h^2}{2x^2(x+h)^2}$$

$$\frac{\sin ah}{a} = a$$



la antd

$$2 \cos\left(\frac{3}{x^2}\right) \times \lim \frac{-6x - 3^4}{2x^2(x^2)^2}$$

$$2 \cos\left(\frac{3}{x^2}\right) \times \frac{-6x}{2(x^2 \times x^2)}$$

$$2 \cos\left(\frac{3}{x^2}\right) \times \frac{-6x}{2x^4}$$

$$= \frac{-6x}{x^4} \cos\left(\frac{3}{x^2}\right)$$

$$= -\frac{6}{x^3} \cos\left(\frac{3}{x^2}\right)$$



$$B \quad y = \frac{4}{x^3}$$

$$\frac{dy}{dx} \left( \frac{4}{x^3} \right)$$

Using first principle

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$\Delta y = \frac{4}{(x + \Delta x)^3} - \frac{4}{x^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{\frac{4}{(x + \Delta x)^3} - \frac{4}{x^3}}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4(x + \Delta x)^3}{x^3(x + \Delta x)^3 \Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4(x^3 + 3x^2\Delta x + 3x\Delta x^2 + \Delta x^3)}{x^3(x + \Delta x)^3 \Delta x}$$

$$= \frac{4x^3 - 4x^3 - 12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(x + \Delta x)^3 \Delta x}$$



$$\frac{-12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(x+\Delta x)^3}$$

$$\frac{\Delta x}{x^3(x+\Delta x)^3}$$

$$\Delta x$$

$$\frac{\Delta x(-12x^2 - 12x\Delta x - 4\Delta x^2)}{x^3(x+\Delta x)^3} \times \frac{1}{\Delta x}$$

$$= \frac{-12x^2 - 12x\Delta x - 4\Delta x^2}{x^3(x+\Delta x)^3}$$

lim

$$\Delta x \rightarrow 0 \quad \frac{-12x^2 - 12x(0) - 4(0)^2}{x^3(x+0)^3}$$

$$= \frac{-12x^2}{x^6}$$

$$= \frac{-12}{x^4}$$

$$= -12x^{-4}$$

$$2 \int \frac{dx}{x^2+36}$$

$$= \int \frac{dx}{x^2+6^2}$$

$$x = 6 \tan \theta$$

$$\tan \theta = \frac{x}{6} \quad \theta = \tan^{-1} \frac{x}{6}$$

$$\frac{dx}{d\theta} = 6 \sec^2 \theta$$

$$dx = 6 \sec^2 \theta d\theta$$

$$x^2+6^2 = 6^2 \tan^2 \theta + 6^2 = 6^2 (\tan^2 \theta + 1)$$
$$= 36 (\tan^2 \theta + 1)$$

$$= 36 \sec^2 \theta$$



$$\Rightarrow \frac{1}{6} \frac{\sec^2 \theta d\theta}{\sec^2 \theta} = \int \frac{d\theta}{6} = \frac{1}{6} \int d\theta$$

$$= \frac{1}{6} [\theta] + c$$

$$\theta = \tan^{-1} \frac{x}{6}$$

$$= \frac{1}{6} \tan^{-1} \frac{x}{6} + c$$

b

$$\int \frac{dx}{x^2+13}$$

$$x = \sqrt{13} \tan \theta$$

$$\tan \theta = \frac{x}{\sqrt{13}}$$

$$\theta = \tan^{-1} \frac{x}{\sqrt{13}}$$

$$\frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta$$

$$dx = \sqrt{13} \sec^2 \theta d\theta$$

$$x^2 + (\sqrt{13})^2 = (\sqrt{13})^2 \tan^2 \theta + (\sqrt{13})^2 = (\sqrt{13})^2 (\tan^2 \theta + 1)$$

$$= (\sqrt{13})^2 \sec^2 \theta = 13 \sec^2 \theta$$

$$\Rightarrow \frac{\sqrt{13} \sec^2 \theta d\theta}{13 \sec^2 \theta} = \int \frac{\sqrt{13}}{13} d\theta = \frac{\sqrt{13}}{13} \int d\theta$$

$$= \frac{\sqrt{13}}{13} [\theta] + c$$

$$= \frac{\sqrt{13}}{13} \tan^{-1} \frac{x}{\sqrt{13}} + c$$